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Instructions for the candidates:
1. gduml gur whg oa &) # 8 oo 7
Candidates are required to give their answers in their own words as far as practicabile.
2 R s R T B2 Y o e Fre w2
Figures in the right hand margin indicate full marks.
57 v 07 @ s e @ [ 15 e @ sifra & Ry i &
15 Minutes of extra time has been allotted for the candidates to read the que;uom carelully.
4 wm—w#wwfﬁ? &S — F 07 G —F /
This quesnon paper is divided into two sections - Section - A and Sectl 21_1
avs — ¥ 40 TGS 7% & it w7 T ) (i @ R 1 Wﬁuﬁ?ﬁ#} §PT TV

sveer v T} OMR - TV TAF 4 2 13 W@ g @ @/ Ae dlo 47 #@ W)
freft ot FBTY @ R,/ T YA/ S,/ TG S T SR gRawT § AT Fd
777 & ST T Uy A gl

’ In Sectlon - A, there are 40 objective type questions which are compulsory, each carrying 1 mark. Darken
the circle with blue/black ball pen against the correct option on OMR Answer Sheet provided to you.
Do not use Whitener/Liquid/Blade/Nail etc. on OMR Sheet; otherwise the result will be Invalid.
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In Section - B, there are 22 short answer lype questions. Oul of these, olght questions are from Physics,
seven questions are from Chemistry, and seven quostions are lrom Blology. Four questions are to be
answered Irom each subject (Physics, Chemistry and Blology). Each question carries 2 marks. Apart from
Long Answer Type questions. Two questions from Physics, Chemistry and Blology. Long

this, there are 6

answer type questions from Physics carries 6 marks and from Chemistry and Biology carries 5 marks

each. Answer of one from Physfcs, Chemistry aqd Biology is compuisory.

5 P gaR @ FeaEiAE SYwT @ FAT QU T &

Use of any electronic appliances is strictly prohibited.
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W8 -4, SECTION - A

MQMQQIM Type Questions
T & 1 W 40 0F @ VS 0 B am me A P mo 2 R @ o ad 5T

g §3 Ty W) R 8 OMR - e o R a9 (40x1=40)

Question No. I to 40 have four options, out of which only one is correet, You have to mark, your selected
W. on fkr ""R - .\"lﬂ'f. "’0”540)

1 Rem mm wem @ 3 A WRaew @) qafia w\m L

(Al THW H Ed W) e a1 g
) wE R q}?a/-maﬂmﬂﬂh
W mich phenomenon of Tight does the Tyndall effect show”
(A)  Reflection of light ~(B)  Relraction of light
(C)  Dispersion of light : (D) - Scatering of light -
2 o i kg 2 ) e o s e £
T @) swEdw | (B) [ waw o

(C) SRIEA@GIRTNITAANT (D) 4R oW
Which lens can be used for correction of hypermetropia?
(A) Concave lens ' (B) Convex lens

(C) Sometimes concave' lens and sometime (D) .ijlindﬁcal fens

convex lens

a//&aﬁﬁnmmmm%? - b

@/ e Lo
© o @) &
Which colour has the largest wave - length?

(A)  Red | (B Blue
(C)  Yellow (D) Vialet
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Rt one of e NI IR RO RPENReNs vt power tn electriv clreutt?
_Ay KR & R
WO WX M \T

- S rirmrs i IS T Y -
TTRE RS TIWTITRT (B g{\wmﬁﬁf&m

A
o T T W RGT ST Eo R SOl ) FR R I A
ssordms x Feming's Roft hand rulk, the tndex finger of the lefkt hand indicates -
A Dirsvsion of devmie foree appid on & (B) Direction of magnetic field
QoSN
O Dreevoon of the thow of ekvme cumat (D) Noue of these
| & oadRNr

A Ts=gmisTasw =Y

| Al 3 u!n 3
(LT (m 5
Hom moany chamhers are present i human heart?

Ay 2 (B 3
G 2 ({m 3

1121 Page ¢ o 13



9, M A e da a WA qd vagnn fdg) # \

~
.

(A) e av uu:“ el A
(€)  oe-amad da My g ang o
Which one of the following lenses has poxitive foeq) length?
(A)  Concave lens (B Convex lens
(&) Plano-concave lens (") None of these
o 10,0 R o e A o SRR D QA qrado ava if ol afy a6 b1 a e # oRa
R arr @ R 1 A 9w B yyarg aRadr gy 82
@A )
~(©) ™ ;) o
A rectangular coil of a copper wire is rolated in a magnetic field, The direction of the induced current

in the coil changes once in every -

(A)  Two rotations (B)  One rotation
(C)  Half rotation - (D)  One - fourth rotation
gy-m-m iy dftge F0 B fory Swrer &7
’ﬁﬁ) o SRIARTEE B aifwiom
(C) g ) T A PR
Which gas is responsible for the global wahning?
(A) _-- Carbon dioxide : (B) Oxygen
A0) Nitrogen (D) None of these

2. [ A @ oy qr-fig 8 -

A) 257 B) 25 [
© 25 fA T up) o
| D)

The far - point for the normal vision is -
(A) 25m ' B) 25cm
(C) 25mm (D)  Infinity
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t-(l i Ll & HTH FAd ] Tt W
An example of homologous argans ane -
(A) Our arm and dog’s foreleg
(C)  Potato and runner of grass
_ _ ,
C}j-;. Rega o & amqfd WAh i €

o

~  (A) dr

© e
ial unit of electric encrgy?

What is the commerci

(B)  Our teeth and elephant’s tusks
(D) All of the above

(B) are /wel
(D) TR P A

(B) Watt/hour

(A) Watt

(C)  Unit (D) ; None of these
ﬂmmﬁwmmﬁm#mmé-

=

(A) REELE] AY9g-

(C)  FER D) TG BiE

The loss of oxygen from a substance during chemical reaction is called -

(B)  Reduction

(A) Oxidation

(C) Corrosion (D) Nont_: of these

o 3§ | B A1 o GaEITEl A8 87
(A) T B WG

(C =@ | fewmT

Which of the following is not a receptor organ?

(A) ' (B) Eye
Nose (D) Brain

g ) 3Rk @ e 1 S B T8 e @7

w ' - B g uf

) D) g

Which among these do not act as an endocrine gland as well as an exocrine gland?

(A) Pancreas (B) Pituitary gland

(C)  Ovary (D)  Testes
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-~ Ay CH: (B) C-Hs
& CH M) A EH
Whach of the following is unsaturated hydrocarbon®
1A) CH: (B) C:Hs
//69 C:H: M)  Allof these
A% T = T wEeT € ~
(A gawR e
7 = e . ) -
© e @) - 377 F 3% A
Malke reproductive part of flower is -
(A) Stamen (B) Pistil
(Qd" Peaal D) None of these

yﬁm;nfmmmmaw@mﬁaﬁﬁzf A -

(A) DLIEE MW .

© T4 Cee T UGS ® oA
According to New Cartesian sign convention. the object distance of an object placed before a mirror
is taken -

(A} Positive B)  Negative

(o Sometimes posilive sometimes negative (D)  None of these
A._F= %6 EF 5 dPe 305 B T 5 SR S o w27

(A) =EE B) SEE
(0 FTEIF I M AT
Which of the following compounds can be used as a fuel?

(A) Ethanol (B) Propanol

(CY  Exthanoic acid (D)  Allof these

P TR § < el @ e s aee T @
N o ® B- "

C) - 3=y M T PR T
How many bonds are formed between two atoms of hydrogen?

(A)  Single bond (B)  Double bond
(C)  Triple bond (D)  None of these

-
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G e M el |
W) g @ g T8
Which type of mode of nutrition is found in fungi?
(A Saprophytic (B)  Holozoic
W Autotrophie (D) None of these
Moo @ wn o N Moo & AR wem g &2
JA) 4 (B) 6
© s ™ 12
How many atoms of OXygen are there in one molecule of Glucose?
() 4 (B) 6
(ST ™ 12
218 N N @ TR @ R SeReRl A 87 |
OB ER SR B) T & oSl B
() T N R Y@ DY TEE (D) T 3 e Jure e

Which is not responsible for Ganga's pollut ion?
(A) ' Fish farming in Ganga (B) Washing of clothes in.Ganga

(€) Immersion of unbumt corpse in Ganga (D) Emission of chemical effluents in Ganga

26, vy gdv o1 I WA mﬁmﬁ—maﬁ%mﬁ&mm%‘?

@) W T S ® e T
0 - oo T (D) T A PR T
;Vhich mirror is commonly used as rear-view mirror in vehicles?
(A) Plane mirror ‘ (B) Concave mirror
(o) Convex mirror (D) None of these
37.-'”’@#ﬁmmmmﬁmmé? |

A I, A @ A WB) U, I @1 A
(C) T, T T ERA D) O, T T A
Which of the following constitutes a food chain?
(A) Grass, wheat and mango (B) Grass, goat and human
(C)  Goat, cow and elephant (D) Grass, fish and goat
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(A) T R

{P) uFa A
©)
( o) aftn A (D) g G ad a8
Bile juice is secreted from -

(A) Pancreas (B) Liver
(C) Small intestine (D) None of these
9. 1 W T M @@ IS g 2
\
&A) CH. - (B) CiHs
‘___LC)' C:Hq (D) CiHg

Which of the following carbon compound is the most reactive?

(A) CH. (B) CaHs

(©) C>Hs (D) C3Hs

gg,nl"mmaﬁmﬁmﬁﬁﬁﬂfﬁaﬁﬁwmaﬁﬁ?

.(A) . B) 5

N .' ® 7
How many electrons are there in thg outer orbit of an atom of sulphur?
A) 4 ® 5 -
© 6 - ® 7

}L--ﬂqﬁﬁmwﬁﬂ\mﬁmmﬁmm%—

@A) welew ® R
© v ® THI
The process of forming a thick. oxide layer on aluminium is called -
(A) Galvanisation (B) Anodising
(C) Enrichment (D) None of these
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= {A) VTl (B) AFH
) e D) a-ar
Which of the following is an ideal source of energy?
Ay  Coal (B)  Wood
(C) Petroleum (D) Bio-mass
w AL Dmtﬁqdﬂﬂaﬂﬁ%!ﬁ?—
~—
tA)  CaOH) (B)-  CaOClz
() CaCO: (D)  Ca(HCO3):2
The chemical formula for bleaching power is -
(A)  Ca(OH): (B)  CaOCl:
(C) CaCO; (D) Ca(HCO3)2
\_‘;L-ﬁmmﬁ#aa‘hqéﬁmtmﬂﬂé? |
JA)  TREISE (B) e
(€) e M AP T
Which of the following is a malarial parasite? '
(A) Plasmodium (B) Leishmania
(€) Protozoa (D)  None of these
W & o o B S 7
( 2 M
A wm ®
& ,,igm?mr@” @ Ao
Whrth of lhe followmg is an example of regeneration?
(A)  Hydra (B)  Amoeba
(C)  Spirogyra (D)  None of these
Page 10 of 16
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-
' tA) & M‘!n| 7
() 8 l“l 9
The pH value of pure water 1 -
i\ & " 7
1U X im o
IR W v wrw yewn LA a2
(A) .._‘:Fq \g,',.“' &R
t(’i‘ RE M g3 an
Which substance changes colour of Red himys o Blue? i
(A)  Acid B Baw
() Salt (, None of these
8. Wnﬁwmﬁtﬂﬁmuﬁmmwﬁmﬁvmﬁﬁﬁ
(..—-” . \
JA) T T B wem 2
©)  suRefda wa ) D =} P AN

On decreasing the number of resistors from a paralle] combination of re

sistors. the total resistance

of the new combination of resistors in parallel - https://www.bihartopper.com

(A) Increases (B)
() Remains the same )

T R B Re R RiE S T R @ 3 ol

DL‘CR‘;I\'\:\
None of these

[ e
i g, Uiy —

A RR 3ty R S8 da §) (B)

T Rw @ e N e SRRRES )
gl

Food cans are coated with tin, not with zine because -

&

(A) Zinc is costlier than Tin. (B)
(0) Zine 18 more reactive than Tin. (M
A Ryiw ®)

w/”"mhﬁﬂ | ()

Which is a non-biodegradable waste?

(A) Tissue paper ()

(C)  Thermocol n

Paje !* of '
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Zine has ahigher melting point than Tan.

Zme s less reacnive than Tin.
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Peel of baina

All ot these
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wvs —4/ SECTION - B

A—gwqfrs g/ Non - Objective Type Questions
oY STl v/ Short Answer Type Questions

s e/ Physics
¥ w1 #aagmm!’/ﬁ##w‘unf&mﬂm#mzw

fuiie &1 (z=t)
Question No. 1 to 8 is short answer [ype. Answer any 4 questions. Each question carries 2
(4x2=8)

é/mmﬁﬁmzﬁwaﬁm—maﬁwa%mﬁmmmﬂéﬂﬁ? 2)
Why do we prefer a convex mirror as a rear-view mirror in vehicles?
2

e 3, 25 A, @ Free v aRgel @ g W@ A ow I
is a normal eye not able to see clearly the objects placed closer than 25 cm?

y
X@ﬁuﬁmﬁaaﬁrﬂ%mmmmmmwmmﬁ " @)

Define refractive index. The refractive index of diamond is 2.42. What is the meaning of this

statement?

7 %t <t e e 4 SRR oy e e ok R o SR A (2
| yh, STER (WEw) Td e P R | |
Draw a ray diagram for image of an object placed on the principal axis of a convex mirror.

Write the nature, position and size of the image formed by the mirror.

L]

’{ﬁgawmt?ﬁgam?ﬁsrmml ' . )

What is electric current? Write SI unit of electric current,

6. Tw R & o1 IS 60W; 220V &, 9 R gl 9t deean 100V R T &1 A (2)

g1 fga el @ fraedt om ot o 27
An electric lamp with voltage rating 60W; 220V is connected to main supply of 100V. What

current is drawn by the lamp from the main supply?
J 9s AR T &7 THH T I &7

What is an earth wire? What is its function?

l.sﬁnizua}wqdmmm’fﬁam%? | @

Why does the sun appear reddish early in the morning?

'+ (2)
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Questions No. 9 and 10 are lLong Answer Type
Jollowing.
9. @.

(b)

(a)
- (b)

"“"ﬁﬂ

(b)

Al Iedw W/ Long Answer Type Questions

(6x1=6)
questions. Answer any one of the
(6x1=6)

st R Frave ot TGl IR R vl et e @ g e AR
I A QP TR )

Draw a well labelled diagram of human eye.

How do ciliary muscles accommodate focal length of eye lens to see nearby objects
and far objects?

— MWW MWW
R, R,
fig X R=R, +R>

R, A ¥ e SRR, ol Ry 3 e R 2

Prove that R=R; +Ra»

Where R is the equivalent resistance of resistors Ri and R, connected in series.

1_1.1
R =t .
el R, yredsd ¥ Wi ufekiusi R, AR R, &1 @ged TR 3
: .

i | y 1

Where R is the equivalent resistance of resistors Ry and . ‘onnected in parallel.

11217
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JardA A / Chemistry

Y TTR_HFT/ Short Answer Type Questions

e w11 @ 17 @G 9T 9 &) g7 B R ¢ gl @ O 7 AT B oy 2
3 R 81 (4x2=8)

Queggion No. 11 to 17 is short answer type. Answer any 4 guestions. Each question carries 2 .

marks. (4x2=8)
e R o o o v @ e ot s | 2)
Write one equation each (or decomposition reuction and combination reaction.
Mﬁmmmwmmﬁmww )
Differentiate between washing soda and baking soda.
13, yraRa o Re 1 e 7 T B 8, Tt an o e 87 @

(I

Why distilled water does not conduct electricity, Whereas rain water does?

A oy am @ & o g @ = SR 41 @
What are alloys? Give two c;xumplcs of alloys.

V/:ramw%ma%mwmaamu @)
Give two ways to pre\-cnl.imn from rusl_i;1g.

16. ¥ IR TETARRE B v AR 7)
Drav it suructure for Benzene und C W lOLCAUE,

17, i 7 2 R 1 S e e 4 T A R AT AR B (@)

How the clectronic configuration of an atom is related to its position in the Modern Periodic

table?

”12] I e Page 14 of 16



< Suda 9¥/Long Answer Type Questions

o w18 3N 19 N aedla w-E) gy o R v a1 g 2, (5x1=5)

Questions No. 18 and 19 are Long Answer Tspe questions. Answer any one of the

following,

(5xl=3)
18. P=iEie s e &2 (5
\ W WH? T
o) oW s
(i) TRNERT I

What are the following reactions?
(1) Addition reaction
(i) Substitution reaction
(i) Esterification reaction
19 s % g & P % g w0 9 g
Write the steps involved in the extraction of metals from their ores.

SHafds / Biology

Y TR Y% / Short Answer Type Questions

¥ &> 20 #ﬁﬁgﬁﬁﬁ?ﬂ??‘lﬁ##ﬁﬁﬂﬂﬁ#aﬁ?é‘lma‘ﬁvz
& R & (x2=s)

Question No. 20 to 26 is short answer type. Answer any 4 questions. Each question carries 2
marks. " (Ix2=8)

2B R ot e Rt e 3 7 shg 82 @
Diffgrentiate between autotrophic nutrition and heterotrophic nutrition?
g1 a1 8?7 <1 IRy & B AW R (2)
Define hormone? Name any two plant hormones.

22. T PR Rl ST & 7w BR B T & @

Give reasons for adopting contraceptive methods?
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23, gy e Tl A R R 2)

N Distinguish between self-pollination and cross- pollm.nf( 1004,

24, Mg e @ 9w F w8 2)

What do you mean by biological magnification?

25, mﬁmﬁwm%ﬂwﬁﬁmﬁwﬁl

two suggestions to make your school environment friendly?

)

Give
ﬁm@ﬁwﬂmw%ﬁa‘lﬁr‘ﬁ )
How is food transported in plants?

£
&1if S e/ Long Answer
e g 27 o 28 3 oEdT 7E & g8 R v T o 2 (ox1=)

Questions No. 27 and 28 are Long Answer Typé questions. Answer any one of the

following. (5x1=5)

A T @1 W AR R T U i e | ®)
Draw a well labelled diagram of human digestive syStern and describic the digestion of food. |
28, G ARGTH B WA BT A B )

Describe the structure of human brain.




